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2. Find the slope of the line that passes through each pair of points.
a) (-8,13) &

a. Rate of Change =

Gallons | Miles

~ Vv
3 —2M27 [

5 / 211
8 337
12 | 505

b) (£.3) &

m\_—

J

kR

(-8,-12)

VV]:

€17}

0

m

wnaLt.
-3

¢ =4
", T
:

\_Q

800
600

bl
400

B

b. Rate of Change =

6 12 18 24
D IV) n # of Cows

(oe
.
4

Point - Slope Form of a Linear Equation:

Point-Slope Form of a Linear Equation

g

The point-slope form of the equation o that passes throught the point (x;. y;) with slope m is

Y - Y1 =m(X-Xi)



3. Aline passes through these two points: (4,-3)&(-2.,9)

_ gn Sec 6-2: Slope-Intercept Form for the equation of a line.
a) Find the slope of this line. m — 0’ _ "j l/-L—
17—y ;‘{ y=mx+Db

b)\‘\aVrlte the equatlca}af).e)me in Point- SI e Form )

.9 _ : X‘H/) slope Y-intercept
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Writing the equation of a line in Slope-Intercept Form:

o~
Method 2: a) (-6,14)&(3,8)
1. Write the equation of the line that passes through each pair points. Give your answer in

First: Find the slope.
Slope-Intercept Form

a) (-6,14)&(3,8) Second: Replace m in y = mx + b with the slope
:

The same as previous: My =

|
W™

-~ %2 %+b
14-8 e =iE Third: Replace y and x with tﬁe coordlnates of one of

First: Findthe slope. W = Z7—= ~ ¢4 = 3 the points  Using (3.8) g="% 2 (2 el
Second: Write the equation inLPoint-Slope Form Fourth: Solve for b. % 5 'H)

‘ - = [ _ First simplify = - b=10
Using 38) Y- = "5 (k- add2toboth sides +2  +2
Third: Change Point-Slope into Slope-Intercept Fifth: Rewrite y = mx + b with the values of m and b

e 2 \
Distribute the slope: \/_ B Sx%+2 you've found. —
+ 3 12 V="3Xx +10
Add 8 to both sides: 2

Y=TE2X A



1.) Write the equation of the I|ne in Slope-Intercept Form that passes
through this pair of points:

2.) Write the equation of the line in Slope-Intercept Form that passes
through this pair of points: N
(4 5) -6,5) (6,2) and (6, 4)
O m=0 % = | —00( -4
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Write the equation of this line in Slope- Intercept Form

Write the equation of this line in Slope-Intercept Form:
y 5

v —S
- o=2 : )73




Write the equation of this line in Slope-Intercept Form

vﬁ j:z

Find the y-intercept and x-intercept

y=2x+3
D :ZX’(‘Q)

=-3 Y=2
=2 )

Write the equation of this line.

. Slope-Intercept Form:

Can't be written in this form

X =2

Point-Slope Form:

Can't be written in this form

Find the slope and y-intercept of each line. l
1 M =-2 lo=-—\2 , " = / 3
y-4=-2(x+8) 3x-9y =18



Write an equation to model each situation. Classwork: Practice 6.4 \Worksheet & Practice 6.2 Worksheet

1 You have 75 songs on your i-pod right now and plan to download Skip #290-36 (practice 6 4)
4 more each week. ’

w = # of weeks

Slope-Intercept Form T=daw+75 IXL #14 - S.2 & S.3 due today at 6pm!

T = Total # of songs after
w weeks.

2 Atthe ballgame you bought 3 hot dogs and 4 Cokes for $25.25

Standard Form 3H +4C =25.25 bli=rrelnetdsas

C = # of Cokes



